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Relação do aço

S1 2xS2 S9

S10 5xS11 S12

S14 S25 S30

AÇO
N DIAM

(mm)

QUANT

(Barras)

UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 182 80 14560

2 5.0 140 23 3220

3 5.0 63 106 6678

CA50 4 8.0 106 118 12508

5 8.0 90 98 8820

6 8.0 6 138 828

7 8.0 23 173 3979

8 8.0 63 108 6804

9 8.0 54 128 6912

10 8.0 6 88 528

11 10.0 210 VAR VAR

12 10.0 62 VAR VAR

13 10.0 91 152 13832

14 10.0 70 172 12040

15 10.0 13 142 1846

16 10.0 13 127 1651

Resumo do aço

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

8.0

10.0

5.0

403.8

638.9

244.6

175.3

433.2

41.5

PESO TOTAL

(kg)

CA50

CA60

608.5

41.5

Volume de concreto (C-25) = 10.75 m³

Área de forma = 59.22 m²
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RESP. TÉCNICO

ADMINISTRAÇÃO
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DETALHAMENTO DAS FUNDAÇÕES
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